Week 2.Db

CS3650

01/17 2024
https://naizhengtan.github.io/24spring/

1. A life cycle of a program

2. Why C?

3. C basics

4. C pointers

5. C arrays L
6. C string P&%J"(
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C basics

A. control flow

- branches:
Joto
- loops: k
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B. functions and scope < s .
- function definition: (nt o=l 6)
[t gGBkaV\'(: N Wt \[3 g
. it a =13
resttrn X\(%)
- variable scopes, local and global variables:
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C. types & operators J—

- basic types: f5
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- assignment: =

0
- arithmetic operators: +, -, *, /, % (D /2rq> ";2_
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- relational operators: <, <=, >, >=, 1=, &&, ||
—
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- precedence and associativity (tricky)
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